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AT T35 :
feaforiaa e &1 aga AragT=t @ 9ieq ST et TTeT Iy :

1.
2.

®

NS A

39 TH-U7 4 38 ¥ &1 q¥t 397 7fart
YI9-9F Gie @USl H A9 8 - @8 &, @, T, T aIT g |
Gue & H Y G 1 § 18 T%F sglascdia aol 97 §&aT 19 TF 20 AWHIT T FHRIT
HTIRT TH-Teh 37 & 997 81
Qus @ § 37 &7 21 § 25 a9 3fd ag-3a90F (VSA) TR & g1l 3l & 997 8|
@UE T 4 I3 GEAT 26 8 31 d%F Ag-IHIT (SA) IR & A~ 37l & T3 &
QUs g 7 Y97 &1 32 @ 35 % G-3RI (LA) IR F Gra-qi< 3l & I3 3/
GUg T I Y99 G&IT 36 G 38 GId/ThIUT ShT3 STLUTRA TR-TR 37l & J97 8/ TRk
fareheq 2t-gt 37ehl & J3 # faar 81
Y99-99 § GHY fahey a1 1oa1 797 81 IEfU, @S & & 2 Yv °, @US T & 2 J¥I 4,
GUS T & 2 Y § a9T U8 € & 3 ¥ 7 R faeheq &7 Jiaem foar 72 81
SET AT & T MFIadT S1C) Alg TavIH gt 7= 22/7 @l
FAFI HT IFINT Al 3l
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TUT - & § agfahedta TR o T § 3R T T9T HT 1 37 2|
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430/4/1 2 Eg%

feaTd sigvg S8k SR 1 AM Q1 OHGA FA: —3 AR 2 7, 2 1
(@) x*+3x+2 (b) x*=3x+2  (c) x¥’=3x—2  (d) x*+3x-2

70 3ir 40 ¥ R (HCF x LCM) SRR 2 1
(a) 10 (b) 280 (c) 2800 (d) 70

T TUFAERR T¢I Brsan afg 7 . 7, A1 39 =0Q 1 9 7 1
(a) 113,  (b) 14 3. (c) 22 %, (d) 363

TEm (5 - 3/5+5) & : 1
(a) oIt B (b) wfdT TE B

(c) i T 3 (d) oot o= 2
aﬁa@q?{p(x)zx2+5x+6%,?ﬁ p(=2)HAAT : 1
(a) 20 (b) 0 (c) -8 d 8

o § S I@ T T Y WIRieRar T et & 7 1
(@) 0.1 (b) % ©) 3% ) %
x+2y+5=03W-3x—6y+ 1 =0 ek gm0 I 1/ : 1
(a) gt &t g & (b) Ik T &A 2

(c) ¥ & @ (d) =1E g & a1 B
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General Instructions :
Read the following instructions carefully and follow them :

1.
2.
3.

4.

9.

10.

This question paper contains 38 questions. All questions are compulsory.

Question paper is divided into FIVE sections - Section A, B, C, D and E.

In section A, question number 1 to 18 are multiple choice questions (MCQs) and
question number 19 and 20 are Assertion - Reason based questions of 1 mark each.

In section B, question number 21 to 25 are very short answer (VSA) type questions
of 2 marks each.

In section C, question number 26 to 31 are short answer (SA) type questions
carrying 3 marks each.

In section D, question number 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In section E, question number 36 to 38 are case based integrated units of
assessment questions carrying 4 marks each. Internal choice is provided in 2
marks question in each case study.

There is no overall choice. However, an internal choice has been provided in 2
questions in Section B, 2 questions in Section C, 2 questions in Section D and 3
questions in Section E.

Draw neat figures wherever required. Take n = 22/7 wherever required if not
stated.

Use of calculators is not allowed.

SECTION - A

Section - A consists of Multiple Choice type questions of 1 mark each.

1.

A quadratic polynomial the sum and product of whose zeroes are —3 and 2

respectively, is : 1
(@) X*+3x+2 (b) x*—3x+2 (c) x*—3x-2 (d) x*+3x-2

(HCF x LCM) for the numbers 70 and 40 s : 1
(a) 10 (b) 280 (c) 2800 (d) 70

If the radius of a semi-circular protractor is 7cm, then its perimeter is : 1
(@) 11 cm (b) 14 cm (¢) 22 cm (d) 36 cm

The number (5 — 3\/§+\/§)is: 1
(a) an integer (b) arational number

(c) an irrational number (d) a whole number

Ifp (x) =x*+ 5x+ 6, thenp (- 2) is 1
(a) 20 (b) 0 (c) -8 (d) 8

Which of the following cannot be the probability of an event ? 1
(a) 0.1 (b) % (c) 3% (d) %

The pair of linear equations x +2y +5=0and —3x—6y+ 1 =0 has : 1
(a) aunique solution (b) exactly two solutions

(c) infinitely many solutions (d) no solution

430/4/1 3 5 [P.T.O.
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10.

11.

12.

13.

14.

15.

16.

17.

18.

OR300

S
Ife AABC ~ ADEF ® 3t LA =47°, /ZE=83°%, @l /C IUsT 2 :
(a) 47° (b) 50° (c) 83° (d) 130°

e x —y=l,x+hky=5SRer ol g w afgdfaga x =2, =128, @
ka1 AH 7

(a) -2 (b) -3 (c) 3 (d) 4

5 sin®90° — 2 cos” 0° T 2 :

(a) -2 (b) 5 () 3 d) -3

s 14 oft. It g9 H TE T A TR, A F hg W 60° F RO
AT FAT 8§, B -

(@) %aﬁ (b) %auﬁ © 3%@1# ) %@ﬁr

30 . F=h #R % wrg-fog @ 30 W, A gt W feord we forg @ WA % e
T I HIU 2

(a) 30° (b) 45° (c) 60° (d) 90°
e 2,3,3,4,5,4,4,5,3,4,2,6,7 1 957F ¢ :
(a) 2 (b) 3 (c) 4 (d) 5

52 191 % ORI Sl TSI THR W Bl T Th TS H T g1 Aol Hehrel
SITAT 21 39 U o oIl SRTH & <Rl STfrehdT T 7 7

1 1 1 12
(a) 5 (b) 2% (c) e (d) 6
T feoma e, et T gt 2 SR gl o6 9 g R, R

(a) x*+4=0 (b) x*—2=0

(c) 4x*—1=0 (d) X*—4=0

= o e, fegama afteor T 2 2

(@) 2(x—1)*=4x*—2x+1 (b) 2x x*=x*+5

() (V2x +V3)Y +x*=3x"-5x (d) (Z+2x)* =x"+3 +4x°

T ga W foua o forg @ 99 W TRt wet Tl @it S weRdt B 7

(a) T (b) @ (c) 3% (d) ¥

3 T, frewn o U 99 % U 9@ fog A @ @it W e @ il aw

Aqf. 3Ok kg A fog AFI R :
(a) 7 @t (b) 5 @, (c) /79 (d) 25 @i,

=
430/4/1 E?ﬁ

AN



Elzlil
a
[=las

8. If AABC ~ ADEF and ZA =47°, ZE = 83°, then ZC is equal : 1
(a) 47° (b) 50° (c) 83° (d 130°

9. If the pair of linear equations x —y = 1, x + ky = 5 has a unique solution
x =2,y =1, then the value of k is : 1
(a) -2 (b) -3 (c) 3 (d) 4

10.  The value of 5 sin*90° — 2 cos” 0° s : 1
(a) -2 () 5 (c) 3 (d -3

11.  The length of the arc of a circle of radius 14 cm which subtends an angle of
60° at the centre of the circle is : 1
(a) % cm (b) % cm (c) 3% cm (d) % cm

12.  The angle of elevation of the top of a 30 m high tower at a point 30 m away

from the base of the tower is : 1
(a) 30° (b) 45° (c) 60° (d 90°

13. The mode of the numbers 2, 3,3,4,5,4,4,5,3,4,2,6,71s : 1
(a) 2 (b) 3 (c) 4 d 5

14.  From a well-shuffled deck of 52 playing cards, a card is drawn at random.
What is the probability of getting a red queen ? 1

1 1 1 12

(a) 3 (b) 26 (c) B (d) 3

15. A quadratic equation whose one root is 2 and the sum of whose roots is
zero, 1S : 1
(@) ¥+4=0 (b) x-2=0 (c) 4*-1=0 (d) x*-4=0

16.  Which of the following is not a quadratic equation ? 1
(@) 2(x -1y =4x*—2x+1
(b) 2x— x*=x"+5
(c) (V2x++/3) +x*=3x*—5x
(d) F*+2x)7? =x*"+3 +4x°

17.  How many tangents can be drawn to a circle from a point on it ? 1
(a) One (b) Two (c) Infinite (d) Zero

18.  The length of the tangent from an external point A to a circle, of radius
3 cm, 1s 4 cm. The distance of A from the centre of the circle is : 1
(a) 7cm (b) Scm (c) 7cm (d) 25cm

OB
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(d) stfirepem (A) @18c B Sk @ (R) &cd 2l

19.

20.

ATHRLA (A) : I o Torell fog T TRl T@n %1 foig & S Attt Brean ® &«
&l 2l

@E (R) : TF I0 & aTe oo U foig & 38 W @i= T3 o= {@neti h g
THEHH Bl 2|

arfireRed (A) : afe fgama wfieor 4x° — 10x + (k — 4) = 0 1 T gt g g
%1 Ycshy &, I k &1 T § g

ek (R) : fgoma gt x° — x + 1 = 0% 9 arafas 3

Qg - @

@UE - @ H fd Tg-3IW (VSA) TR & U9 & 3 Ik U9 & 2 37k E|

21.

22.

23.

24.

430/4/1 6

ﬂﬁsina=%%,?ﬁ(3cosoc—4cos3oc)?=h‘rm3ﬂ’daﬁﬁﬁl

(A) 35 foig % ficemes @ AR S fogati A (-1, 7) 3R B (4, —-3) & Siied
TS TGTEE ! AN €9 T 2 : 3 % FAq9d § faarforg =t 2
HAYAT
(B) I &g A (2, 3), B (-5, 6), C (6, 7) 3K D (p, 4) T TR =agds
ABCD % 3§ &, @1 p =1 4 d Hifs

(A) Fiema wfiaor 327 — 2x + + = 0 %1 faficr T Hif siv i o T
=l Tepld A I

W

HAUAT
(B) feama @efisrtor x> —x — 2 = 0 % 9 71 hifu)
T § S ARG H, g O It Tk ga W feua
fog Tw, PT w& ¥ @ 71 g LTPO = 30°
7, @ x 1 9 T i)
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(Assertion - Reason type questions)

In question numbers 19 and 20, a statement of Assertion (A) is followed by a

statement of Reason (R). Choose the correct option :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) gives the
correct explanation of Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true but Reason (R) does not give
the correct explanation of Assertion (A).

() Assertion (A) is true but Reason (R) is false.

(d)  Assertion (A) is false but Reason (R) is true.

19.  Assertion (A) : A tangent to a circle is perpendicular to the radius through
the point of contact.
Reason (R) : The lengths of tangents drawn from an external point to a
circle are equal. 1

20.  Assertion (A) : If one root of the quadratic equation 4x* — 10x + (k — 4) = 0
is reciprocal of the other, then value of k is 8.

Reason (R) : Roots of the quadratic equation x* — x + 1 = 0 are real. 1
SECTION - B
Section - B comprises of Very Short Answer (VSA) questions of 2 marks each.
21. Ifsina = %, then find the value of (3 cos a. — 4 cos® o). 2

22. (A) Find the coordinates of the point which divides the join of

A (-1, 7) and B (4, -3) in the ratio 2 : 3. 2
OR
(B) If the points A (2, 3), B (-5, 6), C (6, 7) and D (p, 4) are the vertices of
a parallelogram ABCD, find the value of p. 2
23. (A) Find the discriminant of the quadratic equation 3x* — 2x + % =0 and
hence find the nature of its roots. 2
OR
(B) Find the roots of the quadratic equation x> —x — 2 =0. 2

24.  In the adjoining figure, PT is a tangent at T to
the circle with centre O. If ZTPO = 30°, find
the value of x.

OB
430/4/1 7 54 [P.T.O.
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T W o 3eRfd H swEe: OP, OQ 3R OR W fevra
fag A, B 3R C 38 Y= & f% AB||PQ 3R AC||PR 2|
gaise % BC||QR 21

Qug - 7T

@UE - TH AY-IW (SA) THR % I & 31 TAF U9 & 3 3k 2|

26.

27.

28.

29.

30.

31.

430/4/1 8 Eg%

feama afieRter X% + 6x + 8 % I I T HIFTT T Il T oM *
s o Gay 6 gogar i e i)

forg FifST T lthanzA=sec2A—1
1+ cot’A

(A) ToRT W g&ash ¢ atel foRelt qedepter &1 YoM oA feat 1w e foremn
? 3 3% a1g TAF fafes &7 =1 otem fomran 81 fifass 3 @ &t o=
Th T W % g T 27 371 fohu, wifer wdied 3 ush geash uie fedl
T WA & foe T 21 e fow) faa foeman qen yaw stfafies faq =t
fortran sma R

Jrerat
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3x+4y=12,(a+b)x+2(a-b)y=24
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(i) T om AT & (i) 4 ¥ 9E g@n (iii) ue fom gw=m
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25. In the adjoining figure, A, B and C are points on
OP, OQ and OR respectively such that ABJ|[PQ and
AC]||PR. Show that BC||QR.

SECTION - C
Section - C comprises of Short Answer (SA) type questions of 3 marks each.
26. Find the zeroes of the quadratic polynomial x* + 6x + 8 and verify the
relationship between the zeroes and the coefficients. 3

1+tan® A _

oo’ A sec’ A —1 3
co

27. Prove that

28. (A) A lending library has a fixed charge for first three days and an
additional charge for each day thereafter. Rittik paid ¥ 27 for a book
kept for 7 days and Manmohan paid ¥ 21 for a book kept for 5 days.
Find the fixed charges and the charge for each extra day. 3
OR
(B) Find the values of ‘a’ and ‘b’ for which the system of linear equations
3x+4y=12,(a+b)x+2(a-b)y=24
has infinite number of solutions. 3

29. A dieis rolled once. Find the probability of getting : 3
(1) an even prime number.
(1) anumber greater than 4.
(111) an odd number.

30. Find the area of the sector of a circle of radius 7 cm and of central angle 90°.
Also, find the area of corresponding major sector. 3

31. (A) Prove that the lengths of tangents drawn from an
external point to a circle are equal. 3
OR
(B) Two concentric circles with centre O are of radii 0
3 cm and 5 cm. Find the length of chord AB of
the larger circle which touches the smaller circle
at P.

OB
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32. (A) TH guad WA W @ HiAR i s 39 feufa d 40 . e @&l @
STt 8 S g 1 IFAr (altitude) 60° T B 30° B STAT B1 HAR 6t

Famg 3 Hif| 5
T
(B) 7 . 3= wod & RTeR ¥ U Faed ek & R 1 3777 i1 60° 7 3R
3Gh TTC o1 TSHT 10T 45° 3| X it SHars T1d i) 5

33. (A) TF AP. & YYH 25 UG H AMEA A i, et n af Ug
a, =5+ 6n ¥ fear m 21 =y &, 39 AP. % 209 UE #I, 459 UE ¥,

a1gdTa ot Fa R 5
arera

(B) Wk A.P. 4, afe S, =3n"+ 5n 3 a, = 164 &, a1 k =1 &+ F1q shiferg) 5

34. = fean man e 100 ufEm i A foerell < @uq i el =

130-140 | 140-150| 150-160 | 160-170 | 170-180 | 180-190 | 190-200
(et o)
i@ ki
. 5 9 17 28 24 10 7
g7
IThH 3ATehel hl HILHeh FTd shifsy| 5

35. U a9 faga oo ® U W1 R TR 91g H 399 9 ,
T ¥ R afer o §1 W u SEer F s w5 2™
e doreRR 3 gt T ot femm sefmesee 2l . A T

Wmﬁm7ﬁ.aﬁtwﬁﬁwglﬁ.

H

IR F FA IS &THA qAT AFA [ i)
IR el % ARG M, TH AdMARR e &
R § AU off A it 5

=
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SECTION -D

Section - D comprises of Long Answer (LA) type questions of 5 marks each.

32. (A) The shadow of a tower standing on a level ground is found to be 40 m
longer when the Sun’s altitude is 30° than when it was 60°. Find the
height of the tower. 5
OR
(B) From the top of a 7 m high building, the angle of elevation of the top of
a cable tower is 60° and the angle of depression of its foot is 45°.
Determine the height of the tower. 5
33. (A) Find the sum of first 25 terms of the A.P. whose n™ term is given
by a, =5 + 6n. Also, find the ratio of 20™ term to 45™ term. 5
OR
(B) Inan A.P.,ifS,= 3n? + 5n and a, = 164, find the value of k. 5
34. The following table gives the monthly consumption of electricity of 100
families :
Monthly
Consumption| 130-140 | 140-150 | 150-160 | 160-170 | 170-180 |180-190| 190-200
(in units)
Number of | 5 9 17 28 24 10 7
families
Find the median of the above data. 5
35. The boilers are used in thermal power plants to store .
water and then used to produce steam. One such boiler 2™
consists of a cylindrical part in middle and two _
hemispherical parts at its both ends. T
Length of the cylindrical part is 7m and radius of
cylindrical part is %m.
Find the total surface area and the volume of the o
boiler. Also, find the ratio of the volume of cylindrical
part to the volume of one hemispherical part. 5
R s
U
EER
430/4/1 11 54 [P.T.O.
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36. AR 3 Tl doh WIAEA Shid H1 TEHTA i T @i Hl I FASAR TR
fir 22 B9 ovar B w= e “PUBG” @t it i@ & STt ®, el &
eI B S 8l PUBG W % goIRUTHEl o SR § TN SRl S6H
% fou, s fermerm ‘BAN PUBG’ 3R 3& 3 w1 et san 8, fred
T Rl IIARR IR dedl S 1 Thgdl 2l well X & Uk faeneff grn a1

T A aed o § fmard T R

Y

D(1, 5) C(7,5)
BAN PUBG

&

SAVE KIDS

A(l, 1) B(7,1)

X'«

mw%mﬁm,ﬁmuﬁ%waﬁq:

(i) foeot AC e BD & wftesed fog & fcwme qma $ifsg)
(ii) ferot AC it orvarg ma Fifs)

(iii) (a) STRM T&dt ABCD #1 &5t 31 Hifw)

rera
(b) S AB &l @18 a1 31U, faepof AC it owag @, Fma hifvg

37. R U SATGA Sl AT R STRISH L
AT TTEd! 2| TETEed o Ifd SNTeeh g4 g
o HNIUI, 98 el H hdd %A & IUEA
H HEA A 2l TE 36 TA W
60 d Gledl ¥ AN Hh! THEAM
AT %t 24 w1 ol At R

IWITH SHeR] & AR W, 1 I & 3w T
()  rferham foram erfafyr, gt s s ek 8 7
(i) 9 A 1 foram e 3 et 9T 2 7
(i) (a)afg et 42 oW R FeT =&, @ Afeha frad aAfafa =
AL T Hhedl B 7
rera

=
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SECTION - E
Section - E comprises of 3 Case Study / Passage Based questions of 4 marks
each.

36. Use of mobile screen for long hours makes your eye sight weak and give you
headaches. Children who are addicted to play “PUBG’’ can get easily
stressed out. To raise social awareness about ill effects of playing PUBG, a
school decided to start ‘BAN PUBG’ campaign, in which students are asked
to prepare campaign board in the shape of a rectangle. One such campaign
board made by class X student of the school is shown in the figure.

MY
D(1, 5) C(7,5)
BAN PUBG
&
SAVE KIDS
A1, 1) B(7, 1)
X] < »>

Based on the above information, answer the following questions :
(1) Find the coordinates of the point of intersection of diagonals AC and
BD.
(11) Find the length of the diagonal AC.
(i) (a) Find the area of the campaign Board ABCD.
OR
(b) Find the ratio of the length of side AB to the length of the
diagonal AC.

37. Khushi wants to organize her birthday
party. Being health conscious, she
decided to serve only fruits in her
birthday party. She bought 36 apples
and 60 bananas and decided to
distribute fruits equally among all.

Based on the above information, answer the following questions :
(1) How many guests Khushi can invite at the most ?
(i) How many apples and bananas will each guest get ?
(111) (a) If Khushi decides to add 42 mangoes, how many guests Khushi can
invite at the most ?
OR

[y

OB
430/4/1 13 54  [P.T.O.
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(b) IfE 1 g5 hedl 1 Yed 60 %., 1 TS & oI 15 & AR 1 W &
T 20 %. 7, A 60 hdl, 36 T 3R 42 AW Wled & fofw fevat Tfyr
T el Bl ?

= 5 fosi qen steRfaat bt eaTgdes R St Wl 6 I @R
e

D 2.4, C S 4.8 9. R
85° 70°
< )
105° 100°
P 2.4 Tl Q
% (1) % (ii)
CERC
D 3.5 9. C S 3 g, R
| L] H L
1 [] 1 []
A 3.5 9. B p 3+t Q
@ (iif) @ (iv)
CER
A P
g :
B H C Q X R
39T, 3 g4,

T (V) T (vi)
(i) % fo sy foraw gHt sTehfaaT T awey 2|
(ii) =& foa same ol g1 spfaar wafmem £
(iii) (a) Tag FiS for Tafmay Hys Taew ff g g weg foada 7
BPC]
(b) T TmEY By w1 watmew g9 % faw &9 ¥ *9 F@ Rk fen g
=feu ?
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(b) Ifthe cost of 1 dozen of bananas is ¥ 60, the cost of 1 apple is T 15 and
cost of 1 mango is ¥ 20, find the total amount spent on 60 bananas,

36 apples and 42 mangoes.
38. Observe the figures given below carefully and answer the questions :
Figure A
D 2.4 cm C S 4.8 cm R
70° 85° 70°
£ B
<r el
A
1.2 cm 105° 100°
P 24 cm Q
A (1) A (ii)
Figure B
D 3.5cm C S 3cm R
| L L L]
=) =) £ =
(o] (o] (o] (o]
1 ]
P 3 cm Q
B (iv)

C

(1) Name the figure(s) wherein two figures are similar.
(1) Name the figure(s) wherein the figures are congruent.
(i1) (a) Prove that congruent triangles are also similar but not the

converse.
OR
(b) What more is least needed for two similar triangles to be
congruent ?

OB
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Secondary School Examination, 2023

SUBJECT NAME MATHEMATICS (BASIC) (SUBJECT CODE 241) (PAPER CODE 430/4/1)

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to
anyone, publishing in any magazine and printing in News Paper/Website etc may
invite action under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and due marks be
awarded to them. In class-X, while evaluating two competency-based questions,
please try to understand given answer and even if reply is not from marking scheme
but correct competency is enumerated by the candidate, due marks should be
awarded.

The Marking scheme carries only suggested value points for the answers.

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks
should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after deliberation and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

Evaluators will mark( \' ) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right (¢ ) while evaluating which gives an impression that
answer is correct and no marks are awarded. This is the most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out with a note “Extra Question”.
However, for MCQs (Q1 to Q20), only first attempt to be evaluated.
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10

No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11 A full scale of marks (example 0 to 80/70/60/50/40/30 marks as given in
Question Paper) has to be used. Please do not hesitate to award full marks if the answer
deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Guidelines).

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

e \Wrong question wise totaling on the title page.

e Wrong totaling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark
is correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (O)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on

payment of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME
MATHEMATICS (BASIC)

SECTION A
1. A quadratic polynomial the sum and product of whose zeroes are —3 and 2
respectively, 1s :
(@) ¥+3x+2 (b) X¥*=3x+2 () »—3x-2 (d) x¥+3x-2
Ans. (a) x2+3x+2
2. (HCF = LCM) for the numbers 70 and 40 is :
(a) 10 (b) 280 (c) 2800 (d) 70
Ans. (0 2800
3. If the radius of a semi-circular protractor is 7cm, then 1ts perimeter i1s :
(a) 11 cm (b) 14 cm (c) 22cm (d) 36cm
Ans. (d 36cm
4. The number (5— 3 J§+\E) s :
(a) an integer (b) a rational number
(c) an irrational number (d) a whole number
Ans. (¢) anirrational number
5. If p(x)= ¥+ 5x + 6, then p(=2)is:
(a) 20 (by 0 (c) —8 (d) 8
Ans. () O
6. Which of the following cannot be the probability of an event ?
5 , I
(a) 0.1 (b) 3 (c) 3% @ 3
Ans. (b) %
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7. The pair of linear equations x + 2y + 5=0and —3x— 6y + 1 =0has:
(a) aunique solution (b) exactly two solutions
(c) infinitely many solutions (d) no solution
Ans. (d)  no solution
8. If AABC ~ ADEF and ZA =47°, ZE = 83", then £C is equal :
(a) 47° (b)  S0° (c) 83° (d) 130°
Ans. ()  50°
9. If the pair of linear equations x —y = 1, x + ky = 5 has a unique solution
x =2, y=1, then the value of k is :
(a) -2 (b) -3 (c) 3 (d) 4
Ans. (¢ 3
10.  The value of 5 sin90° — 2 cos” 0° is :
(a) —2 (b) 5 (c) 3 (d) -3
Ans. (¢) 3
11.  The length of the arc of a circle of radius 14 cm which subtends an angle of
60° at the centre of the circle is :
44 88 308 616
(a) < cm (b) 5 cm (c) =~ om (d) - cm
Ans. @ Pem
3
12.  The angle of elevation of the top of'a 30 m high tower at a point 30 m away
from the base of the tower is :
(a) 30° (b)y 45° (c) 60° (d) 90°
Ans. (b)  45°
13.  The mode of the numbers 2,3, 3,4 5 4.4 5 3.4 2 6, 7is:
(a) 2 (b) 3 (c) 4 (d) 5
Ans. (0 4
14.  From a well-shuffled deck of 52 playing cards, a card is drawn at random.

What is the probability of getting a red queen ?

@ 35 (b) 5 © 3 @ 3
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Ans. (b) — 1
° 26
15. A quadratic equation whose one root 1s 2 and the sum of whose roots is
Zero, 15 :
(@) x+4=0 (b) x-2=0 (¢c) 4 —-1=0 (d) x—-4=0
Ans. (@ x%2-4=0 1
16.  Which of the following is not a quadratic equation ?
(a) 2(x—1) =4x —2x+1
(b) 2x— x*=x"+35
(c) (V2x+43) +x"=3x"-5x
(d) (" +2x)" =x"+3 +4x°
Ans. (© (VZx+v3f +x2=3x2-5x 1
17. How many tangents can be drawn to a circle from a point on it ?
(a) One (b) Two (c) Infinite (d) Zero
Ans. (a) One 1
18.  The length of the tangent from an external point A to a circle, of radius
3 cm, 15 4 cm. The distance of A from the centre of the circle is :
(a) 7cm (b) S5cm (c) 7em (d) 25cm
Ans. (b) 5cm 1
(Assertion - Reason type questions)
In question numbers 19 and 20, a statement of Assertion (A) is followed by a
statement of Reason (R). Choose the correct option :
(a) Both Assertion (A) and Reason (R) are true and Reason (R) gives the
correct explanation of Assertion (A).
(b)  Both Assertion (A) and Reason (R) are true but Reason (R) does not give
the correct explanation of Assertion (A).
(c) Assertion (A) is true but Reason (R) is false.
(d)  Assertion (A) is false but Reason (R) is true.
19.  Assertion (A) : A tangent to a circle is perpendicular to the radius through
the point of contact.
Reason (R) : The lengths of tangents drawn from an external point to a
circle are equal.
430/4/1 5 P.T.O.



Ans. (b) Both Assertion (A) and Reason (R) are true but Reason (R) does not
give the correct explanation of Assertion (A)

20.  Assertion {A}_: If one root of the quadr;tic equation 4x —_lﬂx +(k=-4)=0
is reciprocal of the other, then value of'k is 8.
Reason (R) : Roots of the quadratic equation x” —x + 1 = 0 are real.

Ans. (¢) Assertion (A) is true but Reason (R) is false

SECTION B

21. Ifsino= % then find the value of (3 cos o — 4 cos’ o).

Solution: sin a = % = o =30°

. 3 cos o— 4 cos® o= 3 cos 30° — 4 cos3 30°

_ ;{ﬁj . {ﬁf _343 _4B3)

2 2 2 8

22. (A) Find the coordinates of the point which divides the join of
A(-=1,7)and B (4, —=3) in the ratio 2 : 3.
' 2 3

A-1,7) P(x,y)  B(4,-3)

Solution:

Lo 24431 _8-3

2+3 5
_2-3)+3() 15 _,
2+3 5
Coordinates of the required point are (1, 3)

OR
(B) If the points A (2, 3), B (-5, 6), C (6, 7) and D (p, 4) are the vertices of
a parallelogram ABCD, find the value of p.

Solution:  Mid point of AC = Mid point of BD
' (2+6 3+7j:(—5+p 6+4)

2 2

2 2

—5+Pp =4 =>p=13

430/4/1 6
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23. (A) Find the discriminant of the quadratic equation 3x™ — 2x + % = 0 and

hence find the nature of its roots.

Solution: 3x2 - 2x + % =0

a=3,b=—2,c=l 1
3 2
. 2 2 1
Discriminant (D) =b“ — 4ac = (— 2)° — 4(3) (gj =0 1
.. Roots are real and equal %
OR
(B) Find the roots of the quadratic equation x~ —x — 2 =0
Solution: x2-x-2=0
x-2)x+1)=0 1
x=2,x=-1 1 +i
2 2
24,  In the adjoining figure, PT is a tangent at T to
the circle with centre Q. If #TPO = 30", find
the value of x. T
0 30
P
X
Solution:
£ OTP = 90° (tangent L radius at the point of contact) 1
Getting x = 120° 1

25. In the adjoining figure, A, B and C are points on
OP, OQ and OR respectively such that AB||PQ and
AC||PR. Show that BC||QR.

Solution: ITn A POQ, AB || PQ
430/4/1 7 P.T.O.



OA _ OB

-1 == (By Thales Theorem) @)
AP BQ

In A POR, AC | PR

_0A _0C (By Thales Theorem) Gi)
AP CR

From () and () 28 = 9¢

BQ CR
- In AQOR, BC || QR (By converse of Thales theorem)
SECTION C

26. Find the zeroes of the quadratic polynomial x* + 6x + 8 and verify the
relationship between the zeroes and the coefficients.

Solution: x2+6x+8=(x+4) (x+2)
= Zeroes are — 4, — 2

Sum of zeroes =— 4+ (—2)=—6= -6 _ M
1 Coeff. of x
Product of zeroes = (— 4) (-2) =8 = 8  _ Constant terzm
1 Coeff. of x
27. Prove that litan A tan:ﬁ =gec’ A—1
l+cot A
sin? A
1+tan 2A * os A
Solution: LHS = 5— = COS2
1+cot“A 1+cos A
sin? A
cos? A+sin® A
_ cos® A
sin? A+cos® A
sin? A
1
_ cos? A _ sin 2A _1-cos’A
1 cos? A Cos’A
sin? A
= 12 ~1=sec’A-1=RHS
cos’A

430/4/1 8
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28. (A) A lending library has a fixed charge for first three days and an
additional charge for each day thereafter. Rittik paid ¥ 27 for a book
kept for 7 days and Manmohan paid ¥ 21 for a book kept for 5 days.
Find the fixed charges and the charge for each extra day.

Solution: Let fixed charge be % x

Let charge for each extra day be ¥ y
ATQ, x+4y=27
x+2y=21

On solving ; x =15, y=3

.. Fixed charge =% 15
and charge for each extra day = ¥ 3
OR
(B) Find the values of *a’ and *b” for which the system of linear equations
Ix+4v=12,(a+b)x+2(a—-b)y=24
has infinite number of solutions.

Solution: For Infinite number of solutions = a1 _ b—l _a
a; by ¢
a+b 2@a-b) 24
3 -1 —a+b=6
a+b 2
L:l =a—-b=4
a—-b

On solving,a=5,b=1

1.1
4+
2 2

—

N[~ N, DN -

N | =
+

29. A die is rolled once. Find the probability of getting :
(1) aneven prime number.
(i1) anumber greater than 4.
(ii1) an odd number.

Solution: S=1{1, 2, 3, 4, 5, 6}

@ P(an even prime number) =

o

W

(i)  P(a number greater than 4) = % or

Gi1) P(an odd number) = % or %

430/4/1 9
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30. Find the area of the sector of a circle of radius 7 cm and of central angle 90°,
Also, find the area of corresponding major sector.

Solution: r =7 cm, 0= 90°

2
Areaofsectmr:ﬂre=g><7><7><ﬂ 1
360 7 360
= Z cm? or 385 cm? %
. _ 922 _ 9
Area of circle = nr —7><7><7—154cm 1
Area of major sector = 154 — 385 = 1155 cm? %
31. (A) Prove that the lengths of tangents drawn from an
external point to a circle are equal.
Solution: :
(For Fig.)
Given: A circle with centre O and PQ, PR are tangents to the
circle from an external point P.
To Prove: PQ = PR
Construction: Join OP, 0Q, OR %
Proof : In A OPQ and A OPR
OP = OP (common)
0Q = OR (radii of the same circle)
Z 0QP = £ ORP (each 90°)
= A POQ = A POR (RHS congruence) 1
. PQ=PR 1
2
OR
(B) Two concentric circles with centre O are of radii
3 cm and 5 cm. Find the length of chord AB of
the larger circle which touches the smaller circle
atP. 0
A P B
Solution: Join OA and OP
OP L AB (radius L tangent at the point of contact) %
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OP is the radius of smaller circle and AB is tangent at P.
AB is chord of larger circle and OP 1. AB

-. AP = PB (I from centre bisects the chord) 1

A A In right A AOP, AP? = 0A% — OP?
= (52— (32=16 1
2
AP =4 cm = PB %
1
. AB=8cm =
2

SECTION D

32. (A) The shadow of a tower standing on a level ground is found to be 40 m
longer when the Sun’s altitude is 30° than when it was 60°. Find the
height of the tower.

Solution: B
1
h (For Fig.)
D 300 60° A
h — 40m— C X .
In AABC, tan 60°= — = h= /3x ]+E
X
In A ABD, tan 30° = —x+40=3h 741
X +40 2
Getting x =20 m %
and h= 20+/3 m (Height of tower) %
OR
(B) From the top of a 7 m high building, the angle of elevation of the top of
a cable tower is 60° and the angle of depression of its foot is 45°.
Determine the height of the tower.
Solution:
1
(For Fig.)
430/4/1 11 P.T.O.




InAABP,tan45°=Z =>x=7
X
InABCQ,tan6O"=D h=+3x
X
h=7+/3m

..Height of tower =PQ=7+h
=7+743 =71+ 3)m

33. (A) Find the sum of first 25 terms of the A.P. whose n" term is given
by a, =5 + 6n. Also, find the ratio of 20" term to 45" term.

Solution: a,=5+6n

n=1, a;(1% term) =5+6(1) =11
n=2, a, (2 term) = 5 + 6(2) = 17
=>d=ay,—a;=17-11=6

S ="[2a+@m-1)d]

n

2
25
Se5= 5 [2(11) + (25 — D6l
= 25 [22 + 144]
2
Sg5 = 2075

ago _ 5+6(20) _ 125 _ 5

ass 5+6(44) 275 11

.. The required ratio is 5:11
OR

(B) Inan AP_ifS,=3n"+ 5nand a, = 164, find the value of k.
Solution:

S, =3n%+5n

n=1, 8,15 term) = 3(1)% + 5(1) = 8

n =2, Sy(sum of 15 two terms) = 3(2)% + 5(2)=22
a;tag=22 > ay=22-8=14

" d=a2—a1=14—8=6

430/4/1 12
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ak =164
=8+((k-16=164
~k=27
The following table gives the monthly consumption of electricity of 100
families :
Monthly
L‘Gnsumptiﬂn 130-140 [ 140-150 [ 150-160 [ 160-170 [ 170-180 [180-190( 190-200
{(in units)
Number of 5 9 17 28 24 10 7
families
Find the median of the above data.
Solution:
Monthly Number of
. - cf
Consumption families
130 — 140 5 5
140 — 150 9 14 7
150 — 160 17 31 (For Table.)
160 - 170 28 59
170 - 180 24 83
180 - 190 10 93
190 — 200 7 100
100
N 100 o
2 2
.. Median class is 160 — 170
/=160, h=10, cf=31, f=28
N
— —cf
Median = /+ x h
=160+50_31x10=160+£x10 1
28
=166.8
430/4/1 13
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35. The boilers are used in thermal power plants to store /

water and then used to produce steam. One such boiler
consists of a cylindrical part in middle and two |—
hemispherical parts at its both ends. B
Length of the cylindrical part is 7m and radius of

cylindrical part is %m_

Find the total surface area and the volume of the
boiler. Also, find the ratio of the volume of cylindrical
part to the volume of one hemispherical part.

Solution:

h=’7m,r=1m
2

Total surface area = 2rrh + 2(2nr2) = 2nr(h + 2r)
=2x g X Z 7+ 2x Z
7 2 2

= 308 m?

Volume of the boiler = 7 rh + 2(% T rsj
22 7 7 4 22 7 7 7

=—X—X—XT+—=—X—X—X—X—

7 2 2 37 2 2 2
=""""m?® or 449.16 m®

Vohme of cylindrical part _xr*h
Volme of one hemispherical part 2 3

m

SECTION E
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36. Use of mobile screen for long hours makes your eye sight weak and give you
headaches. Children who are addicted to play “PUBG’ can get easily
stressed out. To raise social awareness about ill effects of playing PUBG, a
school decided to start ‘BAN PUBG’ campaign, in which students are asked
to prepare campaign board in the shape of a rectangle. One such campaign
board made by class X student of the school is shown in the figure.

+Y
D(1, 5) C(7,5)
BAN PUBG
&
SAVE KIDS
Al 1) B(7,1)
XI

Based on the above information, answer the following questions :

(1) Find the coordinates of the point of intersection of diagonals AC and
BD.

(1) Find the length of the diagonal AC.

(11) (a) Find the area of the campaign Board ABCD.

OR
(b) Find the ratio of the length of side AB to the length of the
diagonal AC.
Solution:
We know that diagonals of a rectangle bisect each other.

@) Required point = Mid-point of AC = (%, %) =(4, 3) 1
G) AC={7-12+(5-1)> =213 1
Gi) @ AB=+7-1)2+(1-1)2 =6 %
BC=J7-72+G-1)? =4 %
Area (ABCD) = AB x BC =6 x 4 = 24 1

OR
Gi) () AB=+(7-12+(1-1)2 =6 1
AB 6 3 7

AC 2413 13
~. required ratio is 3 : 13
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37. Khushi wants to organize her birthday
party. Being health conscious, she
decided to serve only fruits in her
birthday party. She bought 36 apples
and 60 bananas and decided to
distribute fruits equally among all.

Based on the above information, answer the following questions :
(1) How many guests Khushi can invite at the most ?
(i1) How many apples and bananas will each guest get ?
(11) (a) If Khushi decides to add 42 mangoes, how many guests Khushi can
invite at the most ?
OR

(b) 1f the cost of 1 dozen of bananas is ¥ 60, the cost of 1 apple i1s¥ 15 and
cost of 1 mango is ¥ 20, find the total amount spent on 60 bananas,
36 apples and 42 mangoes.

Solution:
G  HCF (36, 60) = 12
Khushi can invite at the most 12 guests
(i) 386+12=3, 60+12=5
Each guest will get 3 apples and 5 bananas

(i)  (a) HCF (36, 60, 42) = 6
Khushi can invite at the most 6 guests
OR
(iii)  (b) Total cost =5 x 60 + 36 x 15 + 42 x 20

=31680

38. Observe the figures given below carefully and answer the questions :
Figure A

D 24cm C 4.8 cm
E
~

24¢cm

A (1) A (i1)
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Figure B

D 15em C S 3em R
L L H L
£ = £ =
] ] ] []
A 3.5cm B " Jcm Q
B (iii) B (iv)
Figure C
A P
E \;2}#} E ¥
B H e Q 3 R
Jcm jecm
C(v) C (vi)

(1) Name the figure(s) wherein two figures are similar.

(11) Name the figure(s) wherein the figures are congruent.

(1) (a) Prove that congruent triangles are also similar but not the
converse.

OR
(b) What more is least needed for two similar triangles to be
congruent ?
Solution:

) Figure A and Figure C %+%
(1)  Figure C 7
(1)  (a) Triangles are congruent = Corresponding angles are equal 1

1

= Triangles are similar.

Conversely, if triangles are similar then ratio of corresponding
sides is same which does not imply corresponding sides are equal

. 1
.. Triangles may not be congruent. 5
Note: Any suitable counter example can be given
OR
(i)  (b) One pair of corresponding side must be equal 2
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